EARAROBREBRT —5 XN—ZXBISH—F 20247878 (B) 3EUVE4H

BN U S%3% K CBS) [HEE] St BRI
[AXE%) 1 & :5,500,000  ~ 23&:2,200,000 337%&:1,400,000 . 4 7% :830,000 9 5 & :550,000
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
—~ == BRERET :40. -15-11- . . MKER (FR)
115l10| PY=Zv2F5—9 33 Blun 2({))0 16-15-11-6 | 35.0 | 87.8 | 2 (4_6(:1) ih;*%
RYNI/IAVEYR BiPIYZVTF—RL SIS
= Sy~ % 3 | M. FA—0O 2:40.6 12-11-7-4 | 35.9 | 82.1 | 1 34 | SHET EFER)
212 | TAo¥I5DY 57.0 G 1/2 4y |BEBL
RYN/O5YY B:TFL—LITVR “RETF—LA
<= 4 3 | WERS 2:40.8 4-4-3-3 |36.5| 80.3 | 3 46 | BIRA— (RHR)
32 by T o 5.0 (1°1/2) 4y | @ esH-TU—g—x.31=7
RiAWTT—II B:TS5—/ BHS
= AEAT : -2-2- AAREES (FR)
4 7| RIZAPOSA b 3 3 s (21.431/.41) 2-2-2-2 |37.4]77.8 | 13 (51:)(3 EGEE%E:
RN—EYIv— 8B:ITSA L=V #Rat /—ReLX
B3 | EEHT 2:41.1 7-6-4-4 |36.6| 77.4 | 7 | 484 |FEU— (FR)
50713 P¥hTTAR %56.0 0 () | STL—vY7
RIIET7RAT BT —VRATIVT #HE77—LA
.~ = 3 | ERE 2:41.4 15-15-16-14| 35.6 | 74.1 | 6 | 444 |ERREEE (W)
61101 |Frvrs 50 (2) ) |EFRAR—LF 72 @)
RiTSvIIALR B4 VI—ORER /=Y Tr—1I
S =~ ST Bl 141, -5-4- . . IR (FR)
- g RoSIUR 4t 3 ohm (21411/46) 5-5-4-6 | 37.1]72.9 | 8 (4322) Em,ﬂ;@
R:RwSAYTF B:FaA(IVX Pt
Sy —_ 4 3 | FXRH 2:41.9 7-9-11-9 |36.9| 69.8 | 16 | 448 |tBOEN ER)
glgl16| P/ TY—= 57.0 (1 3/4) 4y |ERB
RYNITSIY B:RAASTVI—H-I ki
S <) 3 | RHEE 2:42.2 13-14-4-8 |37.7| 67.8 | 9 a6 | EDFEX (5EER)
9|5|9 | XAMY3DFPIVT 57.0 a1/ (vg) | TAREFLE
RIRIVIATA4vIIFIT— BITT4T7TF =[0okat:e]
HYvI 0 4 3 %gjcﬁi (21412/3 5-6-7-9 | 37.8| 66.0 | 4 (5_03 §%§§ (ER)
RiTUYIRFYRELIIL B:HYYFa—)L /=Y Tr—I
» o S5~ 4 3 | DT 2:42.4 9-6-9-12 | 37.5| 65.7 | 14 428 | HIBRE (RE)
IFLEISY K 570 Ry (o | @R JLRIFA—5TLy KR
RiFRXF B:ITUAXH-I FEER Y R
= _ 3 | BHF 2:42.5 1-1-1-1 [38.9| 66.3 | 5 488 | EfE—& ER
FTLSAH 57.0 (172) 0) %ﬁﬂ%ﬂ\
R:NDT B:EIRNUTIL HE &
S A =~)4_ B3| Vet 2:42.5 10-9-9-11 |37.6 | 64.9 | 10 | 460 |BENEZE (RF)
NIVRZA NSV F 57.0 F9%) 6 | SlatEt
RIUFZILAVYINT N B:RA— Uy RFry b [FilsaEa e
= sy = Bl 142, FIB=13 . . EERA (ER)
95— 1=J)L 4 3 e (21412/2% 13-13-13-12| 37.6 | 62.1 | 12 (531) i
R:I—RYY T B:FAPEYRET 2I95T7—L
=T 3 | JIREERA 2:43.3 10-11-13-14| 38.1| 58.2 | 15 460 | EENF FR)
PRI TIR— * *53.0 3) (g |EBFEEHD ()
RIET7RA7 BIVITILRVF #Rt ASK STUD
4% 3 | HOBX 2:47.4 3-3-15-16 | 42.1| 32.9 | 11 476 | MRF FR)
FIlbEwvT [B] #54.0 (94) (+6) BRI
RFIVPAY B:A—IHFITARAE— J—YUTr—L
[ BN
En'w 48.6-36.4

NOYVI AL | 12.6-11.4-12.0-13.0-12.5-12.2-13.0-12.5-12.2-12.2-12.2-12.5-11.7

@ 11— —&@BIE(I

13=zr= (*15,7)-14,12(8,5) (13,16)11(4,3) 2(6,9)1-10

20— — (x15,7)=14,12,8(11,13,5) (4,16) (3,2)6.,9(1,10)

Ja=zr= (x15,7)-12(13,8,9) (5,2) (11,4) (16,10) (6,3) 14-1

41—F— (x15,7)12(13,2) (8,10)-9(5,16)4(11,6) (3,1)=14

@ ILRE

& s 10 500 | | DA R 2-10 220/ | | # & 1-5 350M | | 3&E| | 2-10-12 630M

& B 10 130M4 10-12 4201 | | B &= 2-10 360F3 | | 3EE | 10-2-12 5,020
2 110M 2-12 20| | BB 10-2 1,280
12 160

ABIC OV TRUTEREERRODDZE. THRIIZEL.



